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MEDICAL TERMINOLOGY – II  
Time Allotted : 3 Hours Full Marks : 70 
 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

as far as practicable. 

GROUP – A 

( Multiple Choice Type Questions ) 

1. Choose the correct alternatives for any ten of the following :   

   10 × 1 = 10 

i) The diastolic flow of blood from the aorta into left 

ventricle is called  

a) Myocardial infarction b) Valvitis 

c) Blue-baby syndrome d) Aortic regurgitation. 

ii) An artificial substitute or replacement of a part of the 

body is known as   

a) Amputation b) Transplantation 

c) Prosthesis d) Metamorphosis. 
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iii) The hair is lost from some or all areas of the body is 

known as  

a) Alopecia Areata b) Ascitis 

c) Psoriasis d)  Vitiligo. 

iv) Commonest language used to write medical term is  

 a) French b) Greek 

c) Latin d)  Arabic. 

v) The inflammation of liver is known as 

a) Gastritis b)  Tonsillitis 

c) Hepatitis d)  Carditis. 

vi) Diabetic ulcer generally occurs in 

a) Stomach b) Foot 

c) Small intestine d) Pancreas. 

vii) Rickets is due to deficiency of 

 a) Calcium b) Vitamin E 

 c) Vitamin D d) Vitamin C. 

viii) Mastitis means 

 a) Inflammation of mast cell 

 b) Inflammation of mouth 

 c) Inflammation of breast 

 d) Inflammation of masseter muscle. 
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ix) In adult hypothyroidsm cause  

a) Cretinism b)  Gigantism 

c) Goiter disease d)  Myxedema.  

x) Inflammation of one or more vertebrae is 

a) Vertebraeitis b)  Spondylitis 

c) Synovitis d)  Lumbago. 

xi) Bile is secreted from  

a) Urinary bladder b)  Gall bladder 

c) Adrenal gland d)  none of these.  

GROUP – B 

( Short Answer Type Questions ) 

 Write short notes on any three of the following :  3 × 5 = 15 

2. Mitosis 

3. Diabetes insipidus 

4. Grading of tumours 

5. Formation of urine 

6. Eclampsia. 
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GROUP – C 

( Long Answer Type Questions ) 

 Answer any three of the following.  3 × 15 = 45 

7. What is neuron ? Draw and describe the different parts of a 

neuron. Write a short note on cerebral cortex.  2 + 9 + 4 

8. Write a short note on presentation of fetus. What is ectopic 

pregnancy ? Describe briefly abortion with its types. 4 + 4 + 7 

9. What are the different types of muscle ? Mention their 

locations into the body and their functions. What are the 

different types of joints present in our body ? Explain their 

locations. 8 + 7 

10. Describe cardiac cycle with reference to blood circulation 

through heart. Write a short note on tetralogy of Fallot. What 

is angina pectoris ? 9 + 4 + 2 

11. Define hormone. Describe briefly about the different 

hormones secreted from pituitary gland and their functions.  

   2 + 7 + 6 
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